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DNS

BISkE LREE R &

59 MMALHRA (ML - FE-BRME - BH) ST REFERERLE

49.04 (48.9)
48.04 (47.9)



v

5 = High Jum ES ke LB AR R 1Tm60
=icHk (GR) 1m81 fHE X (KR FR7HE RETFERERR 1m60
R
IE |E5] NO. K4 FiE | 1.35 | 1.45 | 1.50 | 1.55 4%
%
111|358 | k& Xx¥ |[f1Eh 3| O O O | xxx 1.50
FEEFEEB Long Jump BIEkE EIEEREG 5m6 0
LEBGR) 6m22 BA &HF (BHLH) FTR28F SRR 5m6 0
RS
Ilg |st#| NO. K% R | -1- | 2= | -3 |3E®| 4 | 5 | -6- | #& | BE
BERR
1] 3444 | £R IAE | iR 2 DNS
8 | 2 (3454 | A B | HEE&h 1| 408 | 4.26 | 416 | 4.26 | 421 | 408 | F | 4.26
0.4 | 1.2 -05]|-1.2] -1.0| -0.5 1.2
4 | 3| 3457 | F% Rk | MERh 1| 3.65 | 4.46 | 4.25 | 4.46 | 416 | F | 3.99 | 4.46
-1.4 | -0.6 | 0.5 | -0.6 | 0.8 -0.5 | -0.6
4 13461 | B BA | #EM 1| 3.73 | 3.82 | 3.78 | 3.82 3.82
0.5 | 0.7 | -0.9 | -0.7 0.7
5 | 13463 | BEMAZAN | HEh DNS
6 | 3441 | T EE |4 2| 3.89 | 404 | F | 404 4.04
0.6 | +0.0 +0.0 +0.0
713709 | #Kk s | FEHER 1| 3.46 | 3.47 | 3.29 | 3.47 3.47
0.8 | 0.7 | -0.5 | -0.7 0.7
2 | 8| 3582 | BN $mA | RO 3| 4.41 | 4.60 | 4.67 | 4.67 | 4.41 | 418 | 4.26 | 4.67
0.7 |-1.0|-06|-06]|-03]-1.8]-0.9| -0.6
719 |3379 | #MAELC |Ghkd 3| 410 | 431 | 4.24 | 431 | 421 | 3.97 | 4.39 | 4.39
0.5 | 06| -0.5| 0.6 | 0.8 | -1.1 | -1.1 | -1.1
6 | 10| 3793 [tk4<Ak ESE| BBFIh 2| 4.42 | 4.17 | 3.99 | 4.42 | 4.21 | 4.12 | 4.29 | 4.42
0.3 |-1.7|-06]-03]-08]-1.2]-0.4] -0.3
3| 11| 3439 | /NB5 =85 | #I&h 2| 4.47 | 4.61 | 463 | 463 | 426 | 4.54 | 4.55 | 4.63
0.3 | -08|-03|-03]-041]-06]-09] -0.3
5 | 12| 3581 | &)l BEE | FOEh 3| 4.43 | 3.59 | 4.16 | 4.43 | F | 420 | 3.96 | 4.43
0.4 | 0.3 | -0.7 | -0.4 -1.0 | -1.4 | 0.4
1 [ 13| 3402 WA BEAER| B 2| 456 | 4.69 | 4.46 | 469 | 478 | 4.43 | 4.79 | 4.79
0.5 | 0.1 | -0.4 | -0.1 | -1.0 ] -0.5| -0.9 | -0.9
14| 3612 | =@ FFE | "}ifh 2 DNS




b B FRAaNE SP 5.000kg BEELIE£THEOMO00 (5kg)
£ 508% (GR) 5kg 11mO07 Ik & (FIED) FTr20F EEFHEEZERFTOIMO0O0 (5kg)
4kg 12m10 JtH #E (BED) F18%F

RN
I [F] NO. K4 R % -1- | 2= | 3 |3E®| -4 | -5 | -6- | @&k | HE
ﬁg%ﬂ

4048 | R&E Wk | ERW DNS

3432 | WA #HR | HERRSP 7.62 | 6.89 | 6.40 | 7.62 | 6.90 | 6.85 | 6.89 | 7.62

890 | 7.79 | 9.27 | 9.27 | 9.22 | 8.81 | 9.24 | 9.2]

NN | W] —

1
2

1 3| 3353 | [l FEFH | gEF
4

3442 | #N E M 6.12 | 6.25 | 5.97 | 6.25 | 6.77 | 6.52 | 7.38 | 7.38




PEZF100m

WEREEAZ#SEER  13. 94 (13. 7)
=ECEE (GR) 12. 85 MK KE (MAET) Fr25EF BETFERERR 13. 64 (13. 4)
(BERH 12. 8 AF HRE (CHADH) ERTE
24 LTE (68 1L16)
1 E=E -0.8 2 # REE -2.3
& b=y No. K4 FiE % GiEx = IE L=y No. K4 e % &R #3
1 (3582 XE =MF| FEH 3| DNS 3| 13614 g KB| RMf 2| 14.57
5123283 4l Z=x%E| {-AHH 3| 13.94 7| 2|3440 IRHF MR | HEEEH 2| 15.12
4| 33461 HRE #F | FEH 3| 13.92 113(3346 el t¥| BEH 2| 14.30
2 | 43673 FEH a<n|&dhRd 2| 13.72 2 | 43287 #kE REIE| I-A% 2| 14.42
1|5 |3462 {5 %M | FIES 3| 13.35 6 | 5|3829 ki BEH|MEMALD 3| 14.94
3|6 (3705 mhEF XF| skt 3| 13.83 4|6 |3433 EF 3| #EKG 3| 14.76
73431 ZE@E #F| #Eig+ 3| DNS 8 73373 UM #ER LR 3| 15.62
6|8 (3380 AH [&EXx|LFRG 2| 14.34 5 8 |3701 M k| Mg 3| 14.77
3 M RAE -1.6 4 A R=R -0.9
IlE L=y No. K4 FiE % GiE& wE IlE - No. K4 e % &K #3
3| 13432 mtt HFEBEZX| #iKkdb 3| 15.06 3| 13388 dE BE |k 1| 15.27
2 | 23941 N MER | LiEt 2| 15.02 512|338 HLE BE |LhRd 1| 15.78
1| 33589 #kk ik | FiEH 2| 14.76 13 |3390 =FRE #h#k [[Lepsker 1| 14.86
413672 ¥ FEMTE|Sdsd 3| DNS 4| 43345 m18 =nE| BAES 3| 15.66
513946 BJII Fik| il 2| DNS 5 (3943 THK M\E| RiHEP 2| DNS
416|379 )il #Hk| EAFAHR 2| 15.54 2| 63384 HZE KE \[LohRed 1| 1514
6 | 73377 =% IS |LhRd 2| 16,71 6 | 7|3800 #Ha WAIX| BFHR 1| 16.53
5181|3382 HA #WAF|LhRF 2| 15.55 7| 83387 B LB [[Lepdkesh 1| 17.07
5 # RA=E -2.6 6 #H REZE +0. 6
I L-» No. K4 e % i mE lE -y No. K4 fiE = &R #=E
81331 EF EExE| gE+H 3| 17.16 1
5112|3675 BA TEHE |Brhskc 1| 16.64 6|2 |332 Xk AHE| gE+H 1| 16.09
2 | 33678 LtH {mFE|2dkd 1| 16.23 2 | 33847 M ki |BBFOAESE 1| 15.04
7141391 HE ZF= | f1EH 1| 17.06 314|333 FH ER| aEH 1| 15.22
1|5 (3594 FE BIE| faEsd 1| 1476 415 (33%5 A o3| AEH 1| 15.57
663612 JIF F | =P 2| 16.97 6 | 3616 p@k[R i | =M 2| DNS
317|379 ¥ LE | BBFIH 1| 16.54 5| 7 (3840 KA IFEH |BEFAL 1| 15.74
4118|4031 WK #EHK| EFH 1| 16.56 1|8 (3842 O WEF (BEFALH 1| 14.90




AiREE  EE -1.2 BiRRE X +0.0
& b=y No. K4 FiE % Gifx = IE L= No. K4 e % &R #3
71| 3287 %M R |ZAF 2| 14.16 5 1| 3829 ke mEE|MEF0dR 3| 1478
8 2| 3380 A [&x LR 2| 14.27 6 | 2| 3842 O MEF |BEFOAELAH 1| 14.90
4 | 3| 3461 #kE HF |fEH 3 13.78 7 3| 3433 EEy HZE [#iRd 3 14.93
2| 4] 3673 A < o|BdReg 2 13.59 2 | 4| 3589 itk HEfK |FIESH 2| 14.56
15| 3462 {5f %M |[REH 3 13.25 15| 3614 %HE X5 |HM$ 2 14.16
36| 3705 ¥ =XF |@mEF 3 13.75 4 | 6 | 3594 ;FE HfE |FIEHH 1 14. 60
6| 7| 32834l Z=aE|IZAHAHR 3| 13.92 2 | 7| 3701 @&t Rk |WEE 3| 14.56
5| 8| 336 fElL t¥ |BEH 2 13. 89 8 | 8| 3390 sPfE ARtk |ILHdd 1 15.00
BPEELF200m BEBLELFE 28 74 (28, 5)
KR GR) 26. 46 thE EE (IESD) HHxHE BRFIEIZAEGSE 28, 24 (28. 0)
BA L& (2484 L8)
1 # EE -0.9 2 # E=R -1.1
iE L=y No. K4 FiE % i w= IE L= No. K4 e % & #3

1 1
4112|3343 kit BE | BEHR 3| 29.81 5|2 |3800 #a WLaIx| BFE 1| 36.03
6| 3|3582 KE £MMF| FOEH 3| 30.40 3 3943 TH&K PE| Ll 2| DNS
3| 43434 EA TEF | #WEEF 3| 29.39 1|4 |3941 ithpl MES | R 2| 32.26
2| 53461 #kE HF | FMEH 3| 28.92 513945 BJIl FiR | ZiE$ 2| DNS
1163673 g@E &< 5|&dhk 2| 28.37 6 | 3385 FHLt X |[LpRe 1| 33.92
5|7 |3380 AA X |LHRRd 2| 30.22 713799 &% /T | BFHF 1| 34.50
7| 8| 3441 #)II =Bk | P 2| 31.40 8 | 3345 & ENE| B&EH 3| 34.00
P FEE +0.6
IE V- No. K4 FiE % Gifkx =
71 1]3941 tpn MR | =megd 2| 32.15
6| 2| 3441 #)II EmX | P 2| 31.25
333343 kit BX | BEF 3| 29.48
2 | 43461 tRE %F] | fIEH 3| 28.68
1153673 #E &< |Bdie 2| 28.35
416 |3434 =@ T | P 3| 29.88
5|7 |3380 AA [&x |Lxkd 2| 30.07

8 | 3582 XE Z=MF| FESH 3| DNS




PEZF800m

WISk LIRERR

2:30. 00

RECEERGR) 2:16. 82 KR i (BBFH) Fr28 BEFERERHE 2:28. 00
24 LR (340
1 #A 2 %A
IE -y No. K% R % ik #E & v-v No. K4 R % K mE
10| 13832 & @A |mEF0JLh 2| 2:46.75 4| 13391 #E 27y |LGpgke 1| 2:54. 46
6] 2 [ 3343 Rith EX | BE+H 3|2:38.54 3| 2|3386 =i MEFR |GG 1|2:52.72
4] 3 | 3584 @M FTE | FOEH 3]2:36.35 6| 33798 xO <t | BA+H 1(3:00.79
1| 4| 3830 {RAE WBEFD |RAFO4L 2| 2:26.69 2 | 43379 mE @HE|LhRkd 2| 2:51.40
2| 5 (3823 s EEF |REFNdtch 3| 2:27.58 153791 B v&Y| BERIF 3| 2:46.32
71 6 | 3372 B # |/GrhsRrh 3| 2:38.78 516|331 kg HaE|Lhsd 2| 2:58.05
3| 7| 3437 mEEA TE3E | tERE&H 3] 2:29.55 71713375 E& F# |[Lgpkes 2(3:11.30
8| 83383 1 FZH |arh:kh 2|2:42.17 8| 8(3824 #T BAE |MEFndteh 3[3:14.45
9| 9 [3611 IUF #A | H|iEh 3|2:45 44 9 | 3944 FwIEN K| ZOEP 2| DNS
5/ 10| 3588 =@ ®RE | FOFEFR 2| 2:37.91 10
11 11
12 12
3 %A
IE L-v No. K% i@ =¥ & w5
2| 13836 HE #FT (B4t 1]2:49.92
6 | 2 |3848 By = [BEFIAL 1] 2:56.29
51 3(3841 ¥, it |[BBFIHL 1]2:52.80
4| 3347 R=E & |BE® 2| DNS
1|5 |3946 I|RA EB |ZEF 1]2:42.43
7|6 |3585 {58 #E |fnEH 3| 2:56.31
3713947 wE Ep |ki@EH  1]2:50.91
4 | 8 |3843 =ih IEF |ABFNLth 1]2:51.48
8|9 (3845 LBk & |MBF0dLth 1]2:58.54
10
I 45z
iE -y No. K4 FiE =¥ i HE=E
1| 103830 ##8& mefn [ABFO4beR 2| 2°26.69
2 | 23823 FEs HE |m@Fndeeh 3| 2:27.58
3| 3|3437 @ = | wepsen 3] 2:29.55
4| 43584 i At | FOmEsh 3[2:36.35
5|5 |3588 =i@ &g | #npEh 2| 2:37.91
6| 63343 Rith B | mEH 3| 2:38.54
71713372 thmA #  |ehgserh 3 2:38.78
81813383 4 Fx= |pachsep 2214217




R+ 1

500m

BmEMELZFEEREHE 5:10. 00

KEER@ER) 4 :39. 14 EBR P& (BHP) FH28%F BEFERLERLHE 5:02. 00
R
IE L-» No. K4 g =# ik s IE L-» No. K4 e % &R #E
2 | 13830 {REE mXF0 |BRFOJdEA 2| 4:54.53 121103798 O L | A+ 1[6:01.93
1123823 iy 25 |HEFAL 3| 4:54.44 131113379 &@ {E3FE|LpRP 2|6:08.09
6 | 3 |3584 @M ZfE | FIEF 3|5:26.83 12| 3944 mIEEAN #HK| TEB 2 DNS
4| 43588 = srH | FIESF 2|5:23.15 1513 3381 Kix BHAEF|LPHRF 2|6:17.51
715 |3372 ithEH #& [Grrgeh 3|5:27.47 9 | 143947 lWE B | REH 1]5:42.81
8| 63383 M ==& [Grgeh 2| 5:30. 38 1615|3375 E& F# |[GhRe 2(6:39.42
51 713946 kA =F | TiEF 1(5:24.10 14116 | 3378 L3 #H%E |[hRe 2(6:11.56
3| 8 |3437 BEmA TEXE | &+ 3| 5:09.07 1017|3386 &R mE#H|LPRP 1|5:51.06

9 | 3349 Hwk #F | BEHR 2| DNS 111183391 #HE =27y |[cPRH 1]5:56.73
1B £5z
IlE_ L= No. K& R ¥ EE mEE
11113823 Eig 25 |FBEFOdtd 3| 4:54. 44
2 | 2 |3830 {Rmk mXF0 |BRFOLAH 2| 4:54.53
3|3 (3437 meEA TEXE | ##HE+ 2]5:09.07
41413588 =& #n| | fOoEAd 2(5:23.15
51513946 A X% | RiEP 1[5:24.10
6 | 6| 3584 jEley ZEAE | FOEH  3]5:26.83
71 73372 ithEH #& [Ggg 3]5:27.47
8 | 8 [3383 i ==& [Ggg 2]5:30.38




hZEXZF100mH

FH19F
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£ GR) 16. 03 LR FHiL (B4
(&) 15. 4 /0O =F (ZAHH)

R ER -1.2

Jl§E L= No. K4 i % & &3
1

3| 2| 3440 A Z=MH | #EERP 2| 21.73

51 3 |3432 &N FEFR| HEERP 3| 23.50

1| 4]3828 xEH & |HMF0dtd 3| 20.51

4 (513342 NE & BES 3| 22.62
6 | 3431 ZEM #F| fEEE 3| DNS

2| 71335 BAx ZZa| gEH 1| 20.86
8

WISk LIRERR
REFERER R
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17.

44 (18.
84 (17.
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6)
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v

B High Jum BIEMELELRG 1mao0
235242 (GR) 1m6 1 (5@ @B} FEH) FHI0E BRTFIEIEEDR 1m4 o0
R
IE |st#| NO. K% FRE % 1.00 | 1.05 | 1.10 | 1.15 | 1.20 | 1.25 | 1.30 | 1.35 | 24%
5%
3| 1| 3389 | BikicAH |Gk 1 o) O | xxx 1.10
2 | 23611 | 1IuF ZA | ®EH 3 o) o) xO | xO | xxx 1.20
1| 3| 3827 |E)I #5KF |MEFdLh 3 — — — — — O |xxx| 1.30
°F Long Jum ISk LB 4m5 0
£35246% (GR) 5m15 JIE ®A (RE$H) SHIE R M AE A ST AR 4m5 0
R
IE |55 NO. K% R % -2- | 3~ |3E®| -4- | -5- | -6- | ;8 | wE
gt
3| 1| 3441 | # Z=ERE | EER 2 3.13 | 3.94 | 3.94 | 3.59 | 3.70 | 4.09 | 4.09
1.3 | 0.8 | 0.8 | -0.5| +0.1 | 0.4 | +0.4
4 | 2 (3346 | fElL t¥ |@EH 2| 3.37 | 3.95 | 3.40 | 3.95 | 3.63 x x 3.95
0.2 | -1.7 | 1.1 | -1.7] -1.3 -1.7
313388 | dt& M= |Boed 1| 3.28 | 2.94 | 3.16 | 3.28 3.28
-0.2 | -1.5 | -0.6 | -0.2 0.2
4 | 3373 | UM 3k |Eepskeh 3| 3.31 | 3.40 | 3.47 | 3.47 3.47
0.3 | -0.9| -1.6 | -1.6 -1.6
6 | 5| 3589 | 4k EIK | FIEH 2| 3.58 | 3.67 X 3.67 | 3.69 | 3.11 | 3.67 | 3.69
-0.8 | -1.1 1.1 | -0.5 | +0.6 | -1.2 | -0.5
6 | 4031 | WA #BH% | EFd 1| 3.4 X 3.29 | 3.41 3. 41
-2.0 -1.2 | -2.0 -2.0
8 | 7 |3703 |## SHmit| @b 3| 2.65 | 3.63 | 3.57 | 3.63 | 3.55 | 3.47 | 3.42 | 3.63
1.4 -07]-14|-07]-03]|-01]-1.7]-07
5| 8 | 3382 |AO #FF |Gk 2 | 2.99 x 3.84 | 3.84 | 3.59 | 3.86 | 3.86 | 3.86
-1.9 1.1 | -1.1 ] -0.5 | -1.0| -1.0 | -1.0
79 |3702 | &8 &5 | @y 3| 3.02 | 3.64 | 3.45 | 3.64 | 3.51 | 2.88 | 3.33 | 3.64
10| -1.7| 14| 17|10 -10]-1.1]-1.7
2 |10 3613 | A+ &= |H:@Eb 2| 3.93 | 414 | 4.26 | 4.26 | 4.02 | 4.01 | 4.23 | 4.26
0.7 |-10] -1.8|-1.8]-03|-1.1] -1.6 | -1.8
1| 11| 3434 | =M &% |8 3| 3.92 | 4.20 | 4.51 | 4.51 | 4.46 | 4.09 | 4.30 | 4.51
10| -10]| 10| -10]| -0.2|-1.7] -0.8]-1.0

517




hed Rtk SP 2. 721kg BERELEERR 9mo0 0

A=EE (GR) 11m38 Mk #&MH (Bd) Fr22%F BEFERELE 9mO00

R R

IE |st#| NO. K4 mE #| -1- | -2- | -3- |3@E®| -4 | -5- | -6- | ik | KE
YL

4 | 1| 3377 |=%t FHSH |=ahsker 2| 4.97 | 5.54 | 5.53 | 5.54 | 552 | 5.39 | 5.52 | 5.54

7|2 |3378 |t $T |Lohxkp 2| 4.0 X X 4.01 | 3.96 x X 4.01

6 | 3 | 3387 |B FELIBE |Idhskeh 1| 5.33 | 4.90 | 4.41 | 5.33 | 4.87 | 5.17 | 4.83 | 5.33

3| 4 | 3384 |HE &E |[kchkd 1| 7.02 | 7.06 X 7.06 | 5.96 | 7.11 | 7.13 | 7.13

5| 5 | 3706 |#kE =@ | W 3| 504 | 545 | 465 | 5.45 | 5.31 | 4.61 | 548 | 5.48

2 | 6 | 3433 |iBE x| MEERH 3| 7.22 | 7.39 | 7.41 | 7.41 | 7.68 | 7.56 | 7.58 | 7.68

1] 7]3705 |h% =5 | 3| 8.07 | 8.36 | 7.69 | 8.36 | 7.78 | 7.91 | 7.71 | 8.36

[ER P9 I BH)  Kf [FrE (&) 2F (#8580 BEe{dLis IS

hEEF 800m  2:05.20 WA s RETS 322.6.11 BHBRFEHMRE R

BT 110mH 15,51 0.8 Bl BEX MRS 222.6.11 BEMEFEMKRE R

517



PR FriERERE (100mH, SP2. 721kg, HJ, 200m)

BIEELRERE 1 700RF-(F4EBDAN I ERER

SEHGR) 21475 FHE £ (FIED) T2 65 ERFHEEHETE 1 70048F-E4EENORNIEEEH
o #&100mH
1 # E&E -1.6
& -y No. K4 e % B #/s
1
2
3
3| 43674 BBH BE |BhLd 22404 55
2| 53829 £k EE{ZE|RGFIdL 3| 20.05 298
1|6 (3462 S %W | fEF 3| 16.68 633
Ji
8
miEfai i 2. 721ke
IE [&#] NO. K4 mE | -1- | -2- | -3 |3ED| /R
BERE
1 (3674 |88H =EEH |Sddch 2| 4.78 X 5.21 | 5.21 | 221
2 | 3829 kg EEE|EBFIL 3| 5.28 | 6.53 | 5.80 | 6.53 | 305
313462 |5/ W | &G 3| 7.14 | 7.76 | 7.88 | 7.88 [ 392
PuiE E = Bk
JIE |55 NO. K4 FrE % 1m00 | 1Tm05 | 1m10 | 1m15 | 1m20 | 1m25 | 1m30 | 526% | B4
1m35
3113674 |88HF EE [BEddd 2| x x x NM 0
2| 23829 |k EEE|EAdEE 3 - — - @) x QO O |xxx| 1.25 | 359
1|3 |3462 ({5 %1 | FIESH 3 — — — — — O [ xxOf 1.30 | 409
X X X
o FE200m
1 # E=E -1.2
IE L-v No. K4 e % & [/a
1
2
3
3| 43674 88H EE |k 2[33.66 257
2| 53829 £k EEZ|BEBFNdLp 3| 31.75 367
1] 6|3462 {EfE W | fRESH 3| 27.50 671
Ji
8
L FuiE SRR (100mH, SP2.721kg, HJ, 200m)
] NO. K4 FrE [z 100mH | ®AZE | SP HJ 200m | BUE (&t E| A
3 3674 |[E8H 2T |Bdfr|2|24.04( -1.6 | 5.21 NM 33.66| -1.2 533
2 3829 |k EE/E|EFIALE|3]20.05) -1.6 [ 6.53 | 1.25 | 31.75| -1.2 | 1329
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